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QUESTION 1

Scenario: A Citrix Engineer prepares to deploy XenMobile Server, ShareFile StorageZone Controllers, and StoreFront
as part of a XenMobile implementation. The engineer needs to ensure that the number of communication ports opened
between the Demilitarized Zone (DMZ) and the internal network is kept to a minimum, and that unauthenticated traffic is
NOT allowed through to the internal network. The engineer intends to achieve these objectives by channeling all traffic
into the environment through NetScaler, which is placed in the DMZ.

Where should the engineer place the components listed below in order to meet the objectives stated in the scenario?
ShareFile StorageZone Controller XenMobile Server StoreFront

A. Place all components on the internal network segment.

B. Place the StorageZone Controllers in the DMZ and all other components on the internal network segment.
C. Place the XenMobile Server in the DMZ and all other components on the internal network segment.

D. Place StoreFront in the DMZ and all other components on the internal network segment.

Correct Answer: C

QUESTION 2

Which three NetScaler features must a Citrix Engineer configure in order for XenMobile NetScaler Connector to properly
function? (Choose three.)

A. Content Switching
B. Integrated Caching
C. HTTP Callout

D. Responder

E. App Flow

Correct Answer: BCD

QUESTION 3

Scenario: A Citrix Engineer needs to create a proof of concept for a XenMobile project and needs to ensure that the
following requirements are met:

-Users must be able to access corporate web and SaaS applications from their personal mobile devices.
-Access to Citrix hosted applications and desktops on XenApp and XenDesktop is NOT required at this time.

-Users\\' devices should NOT be managed.
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Users will require access to WorxWeb and WorxMail.
Which three components will meet the requirements of the scenario? (Choose three.)
A

StoreFront

B.

Worx Home

C.

MDX Toolkit

D.

Citrix Receiver

E.

XenMobile App Controller

F.

XenMobile Device Manager server

Correct Answer: BCE

QUESTION 4

Scenario:XenMobile Device Manager is implemented to ensure Android and iOS users are compliant with corporate
security policies.

A Citrix Engineer is required to set the following restrictions for all devices:

-Restrict device passcode to 4 digits

Disable the device camera

Which two configuration steps should the engineer take to meet the needs of the scenario? (Choose two.)
A

Create a configuration policy for each device type.

B.

Create a configuration policy containing both restrictions.

C.
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Create a deployment package with a device type property rule.

D.

Create a single deployment package to deploy to both device types.

E.

Create separate deployment packages and deploy to each device type.

Correct Answer: AE

QUESTION 5

Scenario: A company with 20,000 enrolled users recently acquired another company with 7,000 users. All new users
also will need access to mobile MDX apps. Each server\\'s specifications include four vCPUs and 16 GB of RAM.

What is the minimum amount of XenMobile cluster nodes required to support this environment?
A. One

B. Two

C. Three

D. Four

Correct Answer: C
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